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(1) Homeostasis[homeostasis]

! Living things naturally return to a state of balance.

2When we are disturbed by forces acting on us, our inner machinery kicks in
and returns us to a balanced state of equilibrium.

3 Homeostasis is the word we use to describe the ability of an organism to
maintain internal equilibrium by adjusting its physiological processes.

4Most of the systems in animal and human physiology are controlled by
homeostasis.

>We don’t like to be off balance.

®We tend to keep things in a stable condition.

"This system operates at all levels.

8Our blood stays the same temperature.

?Except for extraordinary exceptions, when people find ways to intervene
using methods more powerful than our tendency to equilibrium, our habits,

behaviors, thoughts, and our quality of life stay pretty much the same too.
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2 (1) To overcome disadvantages of their size, small animals have developed useful weapons such as poison

to protect themselves in the wild.
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'Large animals are actually less dangerous to hikers than smaller ones.
2Common sense tells us that we should avoid tigers, bears, and other large
threatening animals.

3 But smaller animals are actually more threatening than bigger animals.

4To overcome disadvantages of their size, small animals have developed useful
weapons such as poison to protect themselves in the wild.

>Each year, only a few people are attacked by tigers or bears, and most of these
incidents are caused by the people themselves.

¢ However, more people are killed by bites from small poisonous snakes than by
these large animals.

7Even more people lose their lives from allergic reactions to common bee stings.

8 For these reasons, hikers should be careful about small dangerous creatures.
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' This government has emphasized excellence in business.

21t recognizes that the economy must remain strong and is willing to provide
whatever is needed in order to achieve this excellence.

3However, it hasn’t fully recognized the importance of the arts, especially the
performing arts.

4The performing arts also desire excellence, but in order to achieve it, they need
financial help.

> Without the government’s support, the performing arts cannot survive.

®This will affect other areas of culture, including film.

71f the government doesn’t support the performing arts, this country will lose

much of the heart and soul of its people.
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(1) selective inclusion and exclusion

2@

Social connections are so essential for our survival and well-being that we not

only cooperate with others to build relationships, we also compete with others

for friends.

dot= 2 And often we do both at the same time.

3 Take gossip.

“Through gossip, we bond with our friends, sharing interesting details.

>But at the same time, we are creating potential enemies in the targets of our
of3} a2ist gossip.

Or consider rival holiday parties where people compete to see who will attend
their party.

"We can even see this tension in social media as people compete for the most
friends and followers.

8 At the same time, competitive exclusion can also generate cooperation.

9 High school social clubs and country clubs use this formula to great effect: It is
through selective inclusion and exclusion that they produce loyalty and lasting

social bonds.
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" Although organizations are offering telecommuting programs in greater
numbers than ever before, acceptance and use of these programs are still limited
by a number of factors.

2These factors include manager reliance on face-to-face management practices,
lack of telecommuting training within an organization, misperceptions of and
discomfort with flexible workplace programs, and a lack of information about
the effects of telecommuting on an organization’s bottom line.

3 Despite these limitations, at the beginning of the 21st century, a new “anytime,
anywhere” work culture is emerging.

4(Care must be taken to select employees whose personal and working
characteristics are best suited for telecommuting.)

>Continuing advances in information technology, the expansion of a global
workforce, and increased desire to balance work and family are only three of the

many factors that will gradually reduce the current barriers to telecommuting as

a dominant workforce development.
®With implications for organizational cost savings, especially with regard
to lower facility costs, increased employee flexibility, and productivity,

telecommuting is increasingly of interest to many organizations.

0| XIEH 22 o2 J2Hs H|l25t] |I|':,'_f, 0|2{st @z JaHo| 4

20| Q0I0]= CHet 12| By Ci3t 2IRIRIS) OfF, XX Lj XiE) 22 DS B, QUiet K% TR0 het Q3 B, 12)
T Rt 297t A9 AT ZM A0 0IF1= F0| chet H2 B35 S0l U,

2
21H7| 0=, K| OfTIMLE Let 4 = M22 YR 227t SE5IL QUL
| Afetf 220| 7+ MEret s dEo| fle F2IE .

o, B AAN =Sl 2, Lt 7HY AOoIM 2 -E O1R 2= 879 B/t
YHS MR HEU2 QU S MY

nx

3t el 5 0 FRIol s,

65| Of W AN BIZ, 3718 B9 o1, J2T M DRG0 T3 HIS T St IB F, X 22 B O

22 XX BAATE E2 UL,

(1) 25 2 37 Y52 X 39 TR BN 2018 7171,

(2) e 22 D2 IS B2 AN HBE/D U 7H20] 0135|212 A3t 20152 QI3 HSHOR 4851 UKIS, Be 2
210] Xt 20| Chet 2 A A H0l2t LS| 20Tk mRp Ate 220 Hgtat 1S M o XIS 7I20iof
BICtE LIS @2 29 TA 521 2pelt



2 (1) no

T 2o
([ p.157 )

7| B 2y el 52y
20

Rpplo] st 2719 HHE &
=510 OtL| Q' 2t UsH= A
© J{ol0| HBS IS T
2 JlM5H= ol E5itt

=H|

Aot ES 1t A 4 ol
E'SHE gs BRI

"In our efforts to be the good child, the uncomplaining employee, or the
cooperative patient, many of us fall into the trap of trying to please people by
going along with whatever they want us to do.

2 At times, we lose track of our own boundaries and needs, and the cost of this
could be our life, both symbolically and literally.

3When we are unable to set healthy limits, it causes distress in our relationships.
4 But when we learn to say no to what we don’t feel like doing in order to say yes
to our true self, we feel empowered, and our relationships with others improve.
>So don’t be afraid to say no.

®Try to catch yourself in the moment and use your true voice to say what you

really want to say.

ESIONIE] ‘='1<1§6}X| Ot= 7:|_<,=>_y Bi_JEE‘i | SR} 20 &S [[H, aro

[y A
2 7[897]| 512411 O = SO BHEIC

A

n
rlo

2

-

M-S0 2207t 5171 B2t

rir
rlo

0]

rin

==
22 R2lE A FHL S7E 0{H2I=H], 0213 200 Chet th7ts HEXHe2, 22|10 & 22 2219 40| 2 20|,
3UMS IS 2 4 QIS W, D2 R2(0 AN 1SS 0P [BIL.
4SHRI2E 27 IRt KO0l CHaH ‘O 2t 25E7| 2I5H0Y Bhl AX| 2 Ol THaH Ot 2’2t ek g BiRA| EITHH, Ao

A K2 0| UL LA E|H T2 AlFSae] #74= S0H
513482 ‘Ot Q’2tT Yske=
s B
(=]

= Zots TS 542|5 W7| fIoh 0fAret,

2 no(OtL|2)E 2JOj3ttt.
0| 227 3”% Aotz A0 SEot0 IS 7| of 1l OfMC 2 H é‘u*Oﬂ =MLY
= = 20| 251 LHE2 20122 22| QXIZE (0] 7HY XESIL

Answer Key 031



3 1 ®

(2) ®
| p.158

)
SRt K[2[ote] Aty

[e] 3
e

AP AHAS| OISHE ?IohA
AlZI9F 1 X2|X 248 1

aH{oF BiCt.

SIAFRY AFZH Olafoll 40t XI2/3
o/ 524

HALE Olaffst7| et X[2[stof

O| O|=
9l o|E

to

or

1572 =3l F&E BOOK 1

' Knowing when something happened is important.

2 Understanding why historic events took place is also important.

3To do this, historians often turn to geography.

4Weather patterns, the water supply, and the landscape of a place all affect the
lives of the people who live there.

>For example, to explain why the ancient Egyptians developed a successful
civilization, you must look at the geography of Egypt.

® Egyptian civilization was built on the banks of the Nile River, which flooded
each year, depositing soil on its banks.

"The rich soil could help farmers grow enough crops to feed the people in the
cities.

8That meant everyone did not have to farm, so some people could perform

other jobs that helped develop the civilization.
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"EBarly human societies were nomadic, based on hunting and gathering, and,
in a shifting pattern of life in search of new sources of food, qualities such as
lightness, portability, and adaptability were dominant criteria.

2With the evolution of more settled rural societies based on agriculture, other
characteristics, other traditions of form appropriate to the new patterns of life,
rapidly emerged.

31t must be emphasized, however, that tradition was not static, but constantly
subject to minute variations appropriate to people and their circumstances.

4 Although traditional forms reflected the experience of social groups, specific
manifestations could be adapted in various minute and subtle ways to suit
individual users’ needs.

> A chair could keep its basic, accepted characteristics while still being closely
shaped in detail to the physique and proportions of a specific person.

®This basic principle of customization allowed a constant stream of incremental
modifications to be introduced, which, if demonstrated by experience to be

advantageous, could be integrated back into the mainstream of tradition.
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" The key to successful risk taking is to understand that the actions you're taking

should be the natural next step.

20ne of the mistakes we often make when confronting a risk situation is our
tendency to focus on the end result.

3Skiers who are unsure of themselves often do this.

4They’ll go to the edge of a difficult slope, look all the way down to the bottom,
and determine that the slope is too steep for them to try.

>The ones that decide to make it change their focus by analyzing what they need
to do to master the first step, like getting through the first mogul on the hill.
®Once they get there, they concentrate on the next mogul, and over the course
of the run, they end up at the bottom of what others thought was an impossible

mountain.
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2 (1) survival
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' Food intake is essential for the survival of every living organism.

2The failure to detect spoiled or toxic food can have deadly consequences.
3Therefore, it is not surprising that humans use all their five senses to analyze
food quality.

4@A first judgment about the value of a food source is made on its appearance
and smell.

>@Food that looks and smells attractive is taken into the mouth.

¢ (@The value of a particular food is an estimation of how good it is, based on
its level of vitamins, minerals, or calories.)

"@Here, based on a complex sensory analysis that is not only restricted to the
sense of taste but also includes smell, touch, and hearing, the final decision
whether to swallow or reject food is made.

8®Frequently, this complex interaction between different senses is
inappropriately referred to as ‘taste’ although it should be better called flavor

perception, because it uses multiple senses.
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' Sometimes all the outcomes customers are trying to achieve in one area have a
negative effect on other outcomes.

2This is very common when companies are busy listening to the ‘voice of the
customer.’

3 Traveling salespeople, for example, may say they want a smaller cell phone, but
they may not have thought about how hard that tiny phone will be to use.

4 Carpenters may request a lightweight circular saw without thinking about
the fact that it will no longer have the power to get through some of the more
difficult jobs.

>When customers make requests for new product features, they are usually
focused on solving just one problem and are not thinking of how their requested

solution will impact other product or service functions impact other product or

service functions.
®In this situation, customers request new features but reject the resulting
product when they realize the ramifications of their suggestions — the added

feature turns out to be worthless because of the problems it causes.
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(1) both protectors and avengers

TOxygen is what it is all about. Ironically, the stuff that gives us life eventually

kills it.

2The ultimate life force lies in tiny cellular factories of energy, called

mitochondria, Mthat burn nearly all the oxygen we breathe in.

3 But breathing has a price.

4The combustion of oxygen that keeps us alive and active @sending (— sends)

out by-products called oxygen free radicals.
>They have Dr. Jekyll and Mr. Hyde characteristics.

©On the one hand, they help guarantee our survival.

"For example, when the body mobilizes ®to fight off infectious agents, it

generates a burst of free radicals to destroy the invaders very efficiently.

80n the other hand, free radicals move @uncontrollably through the body,

attacking cells, rusting their proteins, piercing their membranes and corrupting

their genetic code until the cells become dysfunctional and sometimes give up

and die.

9These fierce radicals, ®built into life as both protectors and avengers, are

potent agents of aging.
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